
UNIT TEST – II 
CLASS:X                                                                                                                                                        SUBJECT:SOCIAL STUDIES 
MARKS:25                                                                                                                                                    TIME:45Min. 
 
I. Answer the following questions                                                                                                                             3 X 2 = 6M 
1. Do you think the classification of economic activities in to Primary, Secondary, and Tertiary is useful ? How ? 
2. How does deforestation affect global warming ? 
3. Observe the following table and answer the questions. 

Proclamation of Weimar Republic  November, 9th , 1918  

Hitler becomes chancellor of Germany January, 30th , 1933 

Germany invades Poland, Beginning of the second world war September, 1st ,1939 

Victory of Allied forces in Europe May, 8th , 1945 

i) When did Germany declare as Weimar Republic ? 
ii) When did the Second World War was started ? 
iii) What was the immediate cause for II World War ? 
iv) Who got victory in 1945 ? 
II.  Answer any two of the following                                                                                                                               2 X 4 = 8 M  
4. What aspects of the welfare state do you find functioning in India today ? 
5. How are human activities contributing Global warming ? 
6. How is service sector different from other sectors ? Give examples ? 
III.  Answer all the questions                                                                                                                                            3 x 1 = 3 M 
7. Expand IPCC. 
8. What is meant by organised sector ? 
9. What is the full name of Lenin ? 
IV. Locate the following countries in the World Map                                                                                                 6 X ½ = 3 M 
 i) Russia ii) Great Britain  iii) Japan  iv) Germany   v) Italy   vi) U.S.A. 

 
V. Choose the correct answer                                                                                                                                          5 X ½ = 2 ½ M  
i) The duration of great depression                                                                                                                                            (          ) 
a) 1929-35                                   b) 1929-39                                   c) 1929-45                        d) 1929-33 
ii) Idli is an example for                                                                                                                                                                (           )   
a) final good                                b) unfinished good                    c) Intermediate good      d) Primary good 
iii) The percentage of unorganized workers in India                                                                                                               (           ) 
a) 94%                                          b) 98%                                          c) 92%                                d) 96% 
iv) USSR was set up in the year                                                                                                                                                    (          ) 
a) 1919                                         b)1952                                          c) 1921                              d) 1924 
v) The crop cultivated in Rabi season                                                                                                                                        (           )  
a) Rice                                           b) Jowar                                       c) Wheat                            d) Millets 
VI. Matching                                                                                                                                                                        5 X ½ = 2 ½ M 
                                  GROUP – A                                                                             GROUP – B 

i) Farmer                                               (            )                     a)   Western disturbances 
ii) Loo                                                     (            )                     b)   Un-orgaised sector  
iii) Mediterranean sea                          (           )                      c)   Jews 
iv) Five Year plans                                  (           )                      d)  dry & hot winds 
v) Holocaust                                           (           )                      e)  Roosevelt                            

                                                                                                                       f)  Joseph Stalin 


